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Part 1 (60 MARKS)

For each question from 1 to 30, four options are given. One of them is the comrect
answer. Make your choice (1, 2, 3 or 4}. Shade the correctoval (1, 2, 3 or 4) on
the Optical Answer Sheet.

1.

Which of the following is/are a unit of life for all living things?
A cell

B : organ _

C : system ¢

(1) A only (2) C only

(3) B and C only @A, Band C

Which group of living things contains cells as shown below?

(1) Plants (2) Fungi
(3) Animals (4) Bacteria

Which system helps the animal to obtain oxygen for survival?

(1) Skeletal (2) Muscular

" (3) Digestive (4) Respiratory
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4. Studv the flowchart below.

Start

L\ 4

Does if have

No

wings? Lroup &
Yes
Does it have No Does it have No Group F
feathers? six fegs?
Yes Yes

Which groups may consist of mammals?

(YEand H
(3)Gand H

(2)Eand F
4)Fand G

Which one of the following is true about all animal cells?

(1) All have a nucleus.

(2) All have a regular shape.
(3) All do not have vacuoles. -
(4) Alt do not have a celt wall.
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A group of students took a sampie of cells and observed them under &

microscope. There were no chloroplasts in the cells. They made the

following statements:

Andrew: The cells cannot carry out photosynthesis.

Jane: The cells do not have chioroplasts but can stili be plant celis.

David: The celis do not have a cell wall because they do not have
chloroplasts.

Mary: The cells cannot be from a plant because they do not have

chloroplasts.
Which of them is/ are correct?

(1) Andrew only

(2) David and Mary only

(3) Andrew and Jane only

(4) Andrew, David and Mary only

Mr Tan carried out an experiment by placing identical cells into salt
solutions, each containing different amounts of salt. After some time, he
then measured the size of the cells and recorded itin the table below.

Amount of sait (g) dissolved in 100mi of water | Size of the cell (units)
A 10 7
B 0 8
C 30 5
D 20 3

Which of the abbve is an experimental controt set-up?

(1) A | (8B
(3)C 4)D
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Yeast breaks down sugar and produces carbon dioxide which heips bread
to rise.

James conducted an experiment to test different types of yeast. He put the
same number of yeast celis into 4 different containers of sugar solution for
30 minutes and measured the amount of carbon dioxide produced.

&

Amount of carbon dioxide produced

Time {min)

&TYPEA- @ « TypeB e==e=Type °°°ITYPED

Which type of yeast should he use to make his bread rise the most in the

_ shortest time?

(1) Type A (2) Type B
(3) Type C (4) Type D



10.
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Lily wanted to find out which nutrient i's_ the best for the reproduction of a

~ unicellular organism.

She placed the same number of unicellular organisms in different
nutrients. She recorded the results after a period of time as shown below.

Type of nutrients Number of organisms at the end
of the experiment
A 16
B 8
Cc 64
D 32

Which nutrient has caused the unicellular organisms to have the greatest

number of cell divisions?

(1A (28
(3)C (4D

Which of the following are carried in the water-carrying tubes found in a

plant?

A Walter
B : Dissolved mineral salts
C : Food

D : Oxygen

() Aand’B only (2) B and C only
(3} A, B'and D only (4)A.B,Cand D
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11, Two fruits of similar size were.found growing on a.plant. A farmer removed.
a part of the branch as shown below.

\_branch Y

upper
leaves .
fuagaified view of the
brapch with
its covering
lower
leaves

food-carrying lubie

After a few weeks, he noticed that fruit Y had grown but fruit X had not.
Which of the following statements explains this observation? ‘

(1) Food stored in fruit Y is not transported to fruit X.

(2) Only the upper leaves can make food for branch Y.

(3) Water taken in by the roots can be transported to branch Y only.
(4) Food made by the leaves was transported to fruit Y but not fruit X.
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1_2. Sally poured in an-equal amount of water in each of the Beakers X and Y.
She placed a balsam plant with roots in Beaker X then added a thin layer
of oil to each beaker.

Next, she placed both beakers near a window and recorded the height of
the water level in each beaker over a period of 3 days.

oil

raots

Which ane of the following graphs shows correctly the changes in the
water level in both Beakers X and Y?
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13..  Sludy the experimental sef-up below.

Thin celery stem Thick celery stem

Which one of the following is a pessible aim for the above set-up?

(1) To find out if plants take in water.

(2) To find out if plants need water-carrying tubes to ransport water.

(3) To find out if the thickness of the stem will affect the rate at which the
plant makes food. ‘

(4) To find out if the number of water-carrying tubes will affect the rate of
water taken in by the plants.
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14. The plant below was feft in the sun for a month without water. A sample of
its cells was then taken and viewed under a microscope.

Which of the following are you most likely to see?

{1 (2 nucleus
nucieus
/
|__vacuole
cytoplasm
(3)
nucleus
.
- vacuole
~vacuole
AN cytoplasm cytoplasm




16.

16

17.
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In which of the following parts can digestive juices be found?

A: Mouih

B: Stomach

C: Small intestine
D: Large intestine

(1) A and C only (2} A, Band C only

(3) B, C and D only (4 A B CandD

Which system transparts digested food to alf parts of the body?
(1) Muscular (2) Digestive

(3} Circulatory (4) Respiratory

The table below shows Andrew’s pulse rate when he carries out three
different acfivities.

Activity Puise rate per minute
A 80
B - 105
C 60

Which of the following is likely to represent the three activities cotrectly?

~ Activity A Activity B Activity C
(1) Playing soceer Walking along the Sleeping
beach
(2} | Walking along the Playing soccer Sleeping
beach |
3 Sleeping Walking along the Playing soccer
C beach :
4 Sleeping Playing soccer Walking along the
' beach

10
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19.

20.
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The diaaram befow shows the human digestive system.

At which part does the digested food enter the bloodstream?

(o @c
(3)D (HE

What are the similarities between the plant transport system and the
human circulatory system?

A: Both systems have tubes.
B: Both systems transport oxygen.
C: Both systems transport dissolved food and water.

(1) Aand B only (2) A and C only
(3) B and C only (4 A BandC

Ali, Brian and Carla wanted to find out which of them have the biggest lung

capacity. They decided fo.blow info a balioon and see who could blow the
biggest batloon. Which of the following factors must they keep the same fo
ensure a fair test?

A Number of breaths

B: Shape of the balloon

C: Original size of balloon

D: Start time of blowing the balloon.

(1) A and C only (2) A, B and C only
(3) A, C and D only (4) B, C and D only

11
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21.  Study the-diagram below carefully.

Bldod ficying Bleod fawing
back tothe from the heart
heart

Sample A

" Sample 8

Blood samples A, B, C and D were taken from different blood vessels in
the body. Which graph most approprately shows the amount of oxygen in
the blood samples?

(1) 2
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22.  The diagram below shows how food and gases are transported in the

human body.
food ] ————3 | System P
v
System Q
A
GasY
4
surrounding air > System R exhaled air

Which systems do P, Q and R represent and what is Gas Y7

System P System Q System R Gas Y
&) Digestive Respiratory | Circulatory | Carbon dioxide
(2) Digestive Circulatory | Respiratory | Carbon dioxide
3} Digestive Respiratory | Circulatory Oxygen
(4) Digestive Circulatory | Respiratory Oxygen

13
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Késter set'up an-experiment as shown below. He wanted to find out how
the amount of sunlight affects the growth of a hydrilla plant.
' Glass tank covered

23,7

Glass tank covered
with tracing paper

tap water

hydirilta

Which one of the following set-ups should hée use as a control expertment?

)

(1)
Glass tank Glass tank covered in fracing paper
500mi ] 500ml
fap water tap water
3) “4)
Glass tank
" 500";' - ~ 500ml
tap water ) tap water
T hydritla

14
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25.

26.
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Jasén scratched Materials A B, C and D with the following objects. He

recorded “Yes' if the materiat was scratched by the object and ‘No' if the

material was not scratched by the object as shown below.

Scratched by: j
Metal ruley | Woaden rod | Glass rod Chalk
Material A yes yes yes no
Material B yes ‘no no no
Material C no no no no
Materiat D yes no yes no

Arrange the materials in terms of their hardness. Begin with the material
with the least hardness.

(1)C,B.D, A
(2)C.D,B, A
(3)A,D,B, C
(4)A.B,D,C

Which one of the following materials are conductors of electricity?
(1) Plastic and [ron
(2) Glass and Steel -

(3) Silver and Copper
(4) Nylon and Aluminium

Ken connected a battery and 2 bulbs as shown below.

Which of the following observations would Ken observe?

(1) Both A and B it up.
(2) A litup but B did not.
(3) B lit up but A did not. -

_ {4) Both A and B did not light up.

15
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27.  Study the circuit below.

¥ Z
if switches X and Y are closed, which bulb(s) will light up?

(1) A only (2) B and C only
(3) A and C only {4) None of the bulbs

28. Study the circuit below. There are 4 bells, A, B, C and D connected in the
“circuit. : .

_—— iron bail

Which of these bells wifl ring when the switch is closed?

(1) A and B only (2) B and C oniy
(3) A, C and D only ~ (4)A,B,CandD

16
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29. A circuit is set up using two _bu!bs, L1 and L2, and three switches, 81;'82
and S3 as shown in the diagram below.

-
s
Ly 81 L1 t
Which one of the following set-ups is correct?
S1 S2 S3 L1 L2
(1) closed open open lighted up not lighted up
{2) open closed open not lighted up lighted up
(3) closed apen closed lighted up not lighted up
(4) open closed closed not lighted up lighted up

17
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30. Tomrhas 3 rods, P, Qand R, made of"tiifférent materials. He--bfaced them -
in various positions, A, B and C, of the circuit shown below.

e ."i I e — A
E l £ A ey

x Ly

I .

The results of the experiment were shown in the table below, When any of
the bulbs, L1, L2, or L3, §it up during the experiment, a tick (¥} was placed

in the box.
| Position where rods were ptaced Bulbs
A B C L1 {2 L3
Rod P Rod Q Rod R N \
Rod Q Rod R Rod P ) {

Based on the above results, which one of the fotldwing materials are
conductors of electricity?

(1) P and Q only " {2) P and R only
- (3) Qand R only 4P, QandR
End of Booklet A

18
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PART Il (40 MARKS)

For questions 31 to 44, write your answers in this booklet.

31 A group of students carried out an experiment to find out the
effectiveness of different types of herbs in soap against bacteria. They
put an equal amount of soap in 4 petri-dishes and measured the area
in which bacteria grew. '

&
The results were recorded as shown below.

‘Set-up Area of bacterial growth (cm?)
Soap only 15.0 .
Soap + Herb A 9.2
Soap + Herb B 12.5
Soap + Herb C 2.1
(@)  How do bacteria muitiply? (1 mark}

'(b) What is the purpose of the set-up.that contains only seap? (1 mark)

{c) Which herb would you recommend to be used in the homemade soap?
- Explain your choice. ' . (1 maik)
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32. - State one similarity and one difference between a root hair cell and a

human cheek cell with regard to the parts of a cell. (2 marks})
Roof hair ceil Human cheek cell
AR
7 4—_1=.-,-_—'J’ Y ] i
B = e #‘:\i ;!—g
i Wt
Similarity:
Difference:

33.  Study the piant cell drawn by Sammy.

(a) Draw the missing part of the cell and label it. (1 mark)
(b) State the function of the missing part in (). {1 mark)
{c) Label the part of the celf that controls cell activities. (1 mark}
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34. - Three plants were placed in_ ldenttcal beakers containing water at the
same level as shown below. They were left near a window for an hour

At the end of the experiment, the height of the water in each jar was

measured.
(a) Whatis the aim of the experiment above? {1 mark}
(b)  Bescribe how the water reaches the leaves. (1 mark)
(c) Why do all plant cells need water? {1 mark)
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35.  Jordan removed two rings of food carrying tubes from a plant for an
experiment as shown below. :

{a)  Whatwill happen at Part X? (1 mark)

(b)  Explain your observation in (a}. (1 mark)
- (]

(c)  Whatwill happen to the, plantiafter some tirme? Why? (1 mark)




Rosyth School/Semestral Assessment 1/Standard Science/P5/2013

36. Read the following carefully.
AZ The lungs expand.
B: The 2ir goes into the lungs.
C: Air goes through the nose.
D: The air goes into the windpipe.
E: Hairs in the nose trap dust and dirt present in the air.
(a)  Arrange them in the comect order to describe what happens during
breathing. The first one has been done for you. (1 mark)
—P- —> —> —>
(b)  What happens when air enters the lungs? (1 mark)
37.  Eric studied an experiment as shown below.
Air pumped in.
—
ﬁl :":. . B. ‘:_ --_.Q . _D
limewater tiamsfer liriedraler
(@)  Whatwill happen to the limewater in D? (1 mark)

==
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38. The diagram below shows a human heart. There are two paits {abelled
X and Y. Gases P and Q are found in parts X and Y. The amount of P
and Q foundin X and Y is represented in the graphs below.

LEEY SIDE: Blaod:

EGHT SIDE: Blosd : ?h":‘;t:;fg‘:’t i
flavdng to-tha lungs ]

* i

1%

Aot - of garin
ofgasia | 16.4% bloed
fr[ &m; 0 dk‘ from Y

& o & =
(a) Identify gas Pand Q (1 mark)
o Pis
@ Qis

(b) Describe how the circutatory system and the respiratory system work
together to ensure that Gas P is removed from the body. (£ marks)
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39.  The.diagram below shows the human digestive system..

(@) What are the organs labelled B and C? (1 mark)
B:

C:

(b)  State the function of organ D. Explain why this function is important to
the human body. (2 marks)

: (b) Would you agree that the digestive system is. more important than the
' circulatory and respiratory systems. Explain your choice. .
{1 mark)
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40. John carried out an experiment fo find out the change in pulse rate
after exercising. After each exercise, he measured his pulse rate. He
recorded the results and drew a graph as shown below.

140
120
100
80

&0 |

A0

20

gl

Pulse-als (¢ minule)

(a) Arrange the exercises, starting with the feast vigorous to the most
vigorous. o {1 mari}

(b) Explain why his pulse rate is faster for more vigorous eXercises.
“1 mark)

16fn also measured his breathing rate after each acovity. The results
are shown in the table below.

Type of Activity Pulse rate Breathing Rate
A 78 40
B 60 : 20
C 120 80
D S0 65

{c) What is the relationship between John’s puise rate and his breathing
rate? (1 mark)

(d)  Name the two systems that are involved in the above activities.
(1 mark)
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41.  The properties of 3 materials are as stated below.

Material C

Mafterial B‘

Propetties Material A

Strength weak strong medium
Hardness soft hard hard

Light or heavy heavy light light
Waterproof waterproof not waterproof | waterproof

(8)  Which material would you use to

answer.

make a beach ball? Explain your

(1 mark)

42.  Aaron used new batteries and bulbs of similar voltage fo set up 2
circuits as shown below.

[

SetupC

| -

SatapO

' (a) Sfate the difference between the brightness in the bulb in set-up C and

set-up D?

(1 mark)

(b)  What has caused the above difference in setup C?

(1 mark}
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43.  Kenny wants to find out how the number of batteries in a circuit- will
affect the brightness of a bulb. State the following variables. (3 marks)

(a) Measured variable:

(b) Changed vadable:

{c)  Variable to be kept the same:

10
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44.  Helen had a battery and a bulb as shown in figure 1.

Ff‘gﬁ_‘{_'-:‘ge.'"‘]

(a)  Connect the battery and bulb above to form a closed circuit. Use lines
to represent wires. (1 mark)

Next, Helen added another bulb as shown below in figure 2.

o Figure 2
(b) Connect the batfery and bulbs above to form another closed circuit.
The bulbs in figure 2 must be of the same brightness as the bulb in

figure 1. Use lines to represent wires. {tmark)
() éive an advantage and a disadvantage for the circuit in figure 2.
{2 marks)
Advantage:
Disadvantage:

R
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31)a)Cell Division.
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ave a cell wall but the human cheek cell does
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33)b)It gives the plant it shape.

34)a)To find out if the number of leaves the affect the amount of water taken
in by the plant.

b)The root in the water and the water-carrying tube transport the water to
all part of the plant. :

¢)It is to make cell firm so plant is up right.

35)a)Part X will be swollen.

b)The food made by the plant cannot be transport therefore the food would
be transport there.

c)The plant will die. Food made by the leaves cannot be transport to the
roots. :

36)a)A>C->E->D->B
b)Exchange of gases take oxygen enter the lungs through the walls into the
blood and carbon dioxide is removed in the blood into the lungs.

37)a)It will turn Chalky.
b)To find out if living thing things gives out carbon dioxide during
respiration.

38)a)i)carbon dioxide. ii)oxygen
b)The circulatory transports gasp from the body to the lungs. The
respiratory system carries out gaseous exchange in the lungs to remove gasp.

39)a)B: stomach C: small intestines

b)It absorbs the water from the undigested food so that the body will not
lose too much water.

c)No. The body need all the system to work together.

40)a)B,A,D,C
b)More oxygen in need for vigorous exercise so the pulse is faster.
c)The higher the pulse rate the breathing rate also increases.
d)Respiratory system and circulatory system.

41)a)C. It has to be waterproof so thatif it fall on to the water it won't tear and
it must be light for us to hit.

b)No. It is not water[roof and will absorb water.
42)a)D will light up brightly but set-up C will not.

b)In set-up C, two batteries are arranged with negative pole facing each
other.

Page 2




43)a)Brightness of a bulb.

b)Number of batteries
c)No. of bulb.
44)a)
N e e L o T N B e e ),

b)

i@?@

Figure 2

c)Advantage: If 1 bulb blow, the other still remain lightly.

-Disadvantage : It use a lot of electricity.
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